1 AALis#%n
2 FERH

3 LHE4
4 PAAL B
5 BAFLAE R
6 Hih

7 ANFLFEY

0
H

AN
=

9 TEAmES

10 + &

BEBRRBERBELISE ALKR

R34 3 A 31 A OK)

FEA B AL (R TSR A AR AR T3 %)

S BURAL R S5 AR | H A R O 5 T
TM3FE4H 190 (H) & 3

VEAL

TEMRS A A0 KAl D& & HEFLE & L,
BUTHE PRIEBEARBEEE SHERE CEALN
FRENGIERE FHR BHEER WAHE
12,100, 000 [ ( L (BT EM# 11,000, 000 FF)

13, 000, 000 [ (Biir)

11 AFLIRT (Bidk) (KL 1 [8])

A KL = SR (1) TiEfith | AL
1 [=] 2 [A] VLT
IR 12, 700, 000 — — —
Nz —ARL—a v 6, 800, 000 . O O
et 55 12, 300, 000 — _ _
PRAAL 9, 800, 000 — O —
Y CGIE= 15, 000, 000 — _ _

12 TH SM3FE4A2MH~5M3ETH20H 34+ H




